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A man was assigned to find the average age of
a class of 13 students. By mistake, he included
the 35 yr old teacher as well and hence the

average went up by 2 yr. Find the actual average
age of the class.
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Section 1 - Paperl-English Lanquage

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

So, | lived my life alone, without anyone that | could really talk to, until | had an accident with my
plane in the Desert of Sahara, six years ago. Something was broken in my engine. And as | had
with me neither a mechanic nor any passengers, | set myself to attempt the difficult repairs all
alone. It was a question of life or death for me: | had scarcely enough drinking water to last a week.
The first night, then, | went to sleep on the sand, a thousand miles from any human habitation. |
was more isolated than a shipwrecked sailor on a raft in the middle of the ocean. Thus, you can
imagine my amazement, at sunrise, when | was awakened by an odd little voice.

1) What did the speaker attempt to do all alone?

A) To live alone.

B) To make difficult repairs.
C) To sail a ship.

D) To purchase a ship.

2) The speaker lived alone until

he met someone.

B;) no one was present. TeCh OfWO rl d & l n
)

the plane accident.
all the passengers left.

3) The speaker was doing repairs alone because

A) It was a matter of life and death

B) independence had to be achieved
C) the plane had suffered an accident.
D) there were no passengers and crew.

4) How far was human habitation?

A) Two miles.
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B) Two hundred miles.
C) Two thousand miles.
D) One thousand miles.

5) Why was the speaker amazed?

A) He heard a tiny little voice.

B) He found water in a desert.

C) He wrote many pages together.
D) He completed the repairs.

6) Fill in the blank with the correct option:

| get playing games.

A) bored, bored T h fW I d I
B) board, board eC O Or . n
C) bored, board

D) board, bored

7) Which of the following is the right idiom for a man who is ready to cope with any contingency and
whose behaviour is always appropriate to every occasion?

A) A man of all days

B) A man of all seasons
C) A man of all months
D) A man of all ears

8) Fill in the blank with correct prefix or suffix:

During the logue, all the main actors of the play were mentioned.

A) intro
B) pro
C) pre
D) post
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Set Id : 62269_7 BATCH2_D.EIL.Ed. Odia_07NOV2020

9) Which of the following words is correctly spelt?

A) assasin
B) asassin
C) asasin
D) assassin

10) Which of the following idiomatic alternatives best explains the sense of something that is almost
impossible to find because it is concealed by so many other similar things?

A) Jack of all trades T h f I d I

B) Hamlet without the prince eC O WO r . n
C) Anything is possible

D) A needle in a haystack
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) The potential difference across a capacitor is doubled. What is the multiplication factor by which
the energy stored in it will change?

A) 4
B) 3
€)2
D) 1

11) caIt QIaIdea ArIYea AR QI §gdie 291 9LIQ GO o @4 A9l Q0 136a PR d9 afae 629 ?

» echofworld.In

B) ™
C)?
D) ¢

12) Which house/s of Indian parliament can initiate the creation of All India Services?

A) Lok Sabha only

B) Rajya Sabha only

C) Both the Houses together
D) Either of the Houses

12) Q10610 P90 674 A9R/A9RYER 289 AIGCIA 62910 Aia 2I0A AERIA 0968a ERRAIGE ?

A) €@QM 6RIQAW
B) 6@ AURYAW

C) aqa 92 a0

D) aeqq@@ eng sasdeaas

13) Which one of these is an active agency of non-formal education?

A) Government schools
B) Public universities
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C) Alternate schools
D) Special education centres

13) wenrig 606 2a- AAFIRR dai e A8a 2aIe 26T ?

A) 0RI61 FNIRAYER

B) 6920@ia1 34RIRAQER
C) Qa8 Gaueagee

D) 968 39l 62990

14) The Kothari Commission referred to Education as the only instrument of

A) Successful environmental change
B) National development

C) Peaceful social change

D) Meaningful economic change

14) 61016 RRAR Baiet IQ IQAIG ARIA NLER F6eR! K2R

A) aae 9R6Q99RY 0RQRR

B) qig16l 6ol Techofworld.In

C) a13gd QIFe atees
D) zégd 218i@ atQee

15) The Justice Verma Commission(2012) was constituted to revisit the quality and vision of -

A) Elementary education in India
B) Secondary education in India
C) High School education in India
D) Teacher education in India

15) w210 GEIQRI 9Q° 9aqda gas anal a9l aid 828 &l efeR (9009) GOR LAARIA -

A) aiecsa 9IQAR asl
B) 9I666a IS asl
C) 910664 a9 &
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D) qiecsa 89R sl TeChOfWO rld . l n
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Which letter will be midway between R and L when arranged as per the alphabetical order?

A) |
B) K
C)0
D)H

16) 6J606QER adniel gnea 9dg@Q AFIDR, R e L a nusisse so¢ 280G 629 2

A) |
B) K
C)O
D) H

17) In a certain code language ACTING is coded as ACTGNI and ACTION is coded as ACTNOI.
How would AFFORD be coded in that language?

narroro | @chofworld.In

B) AFFRDO
C) AFFORD
D) AFFROD

17) 9@ 7339 soie uaika ACTING @ ACTGNI aiese ve* ACTION @ ACTNOI aiesa sqie. @@l 62108 | 622 QIsisa
AFFORD q @0d 6eie @QULQ ?

A) AFFDRO
B) AFFRDO
C) AFFORD
D) AFFROD

18) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.

A/VUVVAILIVAM LA L UL LTAULIL 1L LWUOL) LAV VIVMO L VUL W UMLUIOLIVIID)Y L WUVINWD)y 1TULLD \L iy LAiv AN pavaw
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2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If xA2 * (y—2)=0, then what is the value of y?

Il. (yA2) — x=0

v Techofworld.In
C)3

D) 4

18) SARYC ggasesa 630 @09 :
0. 96 YRQE | anavie RRQA c2eIg A628 26T |

9. 28 Y€ |l ¥gGzI anaiia AR 62Ig A6aa 2AET |
q. 96 SQQE | ve || anng ¥eI0 FAITR 6669 ANAIR ARA 60! Als AU 26T |

a@ Q€ | e |l anag 9eI0 Faide 6060 B NN VAR 62! Al aduig 6d |

@ xN9 * (y—9)=0, 6062 y @ FlIR 6260 ?
EX=¥%

Il. (y79) -x=0

A) ¢
B) ¢
C)m
D) ¥
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19) Sharada started walking south. After walking 15 m, she turned left and walked 15 m. Then she

again turned left and again walked 15 m. What is the distance and direction of her final point from
her starting point?

A) 15 m East
B) 15 m South
C) 30 m East
D) 30 m South

19) 6102l @F66a SIRQ! 2R Q6R | 08 Fea IR A6R 6Q AR 94 8 Fca IR | FIAER 6Q AN A Q8 ¢ 8 Aca IR |
PIe°Q 2R FIQ QAR G?@&QI AR F1IEQA QAT 6RET IQ° 64 I6Q 6QQ @96Q 288 ?

oo Techofworld.In

C) qo . g&

D) mo @. ofa

20) In the following questions, mark:

1, if statement | alone is sufficient to answer the problem.
2, if statement |l alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

What is the ratio of employees in departments A and B?
I. 20% of the employees in department A is equal to 30% of the employees in department B.

Il. The ratio of the female employees in department A to department B is 5:6.

A) 1
B) 2
C)3
D) 4

20) FANYS ggasesa 636 @0g :
2. 90 QA4 | anauie QAR caeig asaa 26T |
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Set Id : 62269 7 BATCH2_D.EL.E

ad Q4 1l wgial anaia RAAQA el acaa 26T |
q. 26 YA | 9e* |l aaaq 90 G218 6060 ANAIR ARAQ 621 AIe AMIG 266 |

¥. 9@ Q€ | v || anag eI FzIe 6060 R ANAYR QAR 620! A aduIg Q6% |

A <¢* B Ga1ee @FI01e 29010 6960 ?
l. A Sauea 90% adoial B Gauea No% @deiele Q80 QiR |

Il. A Gaice 0@el edoiaie aQaie B g 986 agalo 8:9 266 |

A) ¢

- | echofworld.In

C)a
D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Which of the following is responsible for research in planning and management of education in
India as well as also in South Asia?

A) UGC

B) NCERT

C) NIEPA

D) NCTE

21) FQAYe MRIQ 624% NINE o2 @86 1dzica 89l AR B ARALR! 68960 AYANR AN A1 ?

A) 284

B) wRdaues
C) Raead
D) ¥R@5a

22) In which of the following methods and/or techniques, the role of a teacher is of a facilitator rather
than an instructor?

A) Projects and Lecture h fW Id I

B) Lecture and Demonstration eC O O r g n
C) Projects and Problem Solving

D) Problem Solving and Lecture

22) GqRge a8d /A 6T1aR AQ 60656q, 966 ZRITES 9fiel 968 RERAR adess, eea ATIAR AUCS saIRald ?

A) 998 & 2UIARI

B) 2GRl e gode

C) 998 & QA AARIR
D) QA4 QeIRIIR 8° 2RI

23) What does NAAC stand for?

A) Natural Assigned and Accredited Council
B) Nodal Assessment and Accreditation Commission
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C) National Assessment and Accreditation Council
D) National Assessment and Auditing Council

23) va4a@ (NAAC) 6048 Qe 94920 297

A) 62g4QIN IARS IS IFLETRQ FIARA
B) srioin 962699 98 1Q0654aR @04a]
C) 60800 96Q639R I8 I@EETER QIR
D) 6paen 162694, 18 3GT] Q0N

24) Which of the following made an important observation on the crucial need for Information and
Communication Technology (ICT) to be made more accessible to stakeholders in education domain?
A) Kothari Commission

B) University Education Commission

C) National Knowledge Commission

D) Secondary Education Commission

24) 3qQRYe AUQ 699G goRl I 6IIEAIN gYSFAY (2e3F) @ 38 0GR FCRPINAILSAIT JRAGY LIRS AR 1@
12994 adicens @aaa ?

A) 621016 @88R

B) ARG dal e Te C h OfWO rI d . I n

C) 91619 B 26AIT
D) AkiAe Sal icaa

25) "All arrangements that include two or more faculty in some level of collaboration in the planning
and delivery of a course” is called as

A) Panel discussion
B) Team teaching

C) Debate
D) Micro teaching

25) “9e QIoIQAIQ 6QAIRRI Ie 300da ANg Siegl 6ad0 98 206 2aPa S YR AUALSA AL6AIA 3PS 6LIN2N I” cigig
QolaNd
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A) 6QIF1GE 2CRASR!
B) @@9e daIQIR
C) God

D) 99 SaiQie

26) Which of these teachers is teaching concept formation the best?

1. He asks the children to learn what is a bird by heart.

2 He asks the children to observe birds and draw them.

3. He gives the children pictures of birds including ostrich, pelican, bats and asks which of them are
birds and why.

4. He asks children to write down the description of their pet bird.

A) 1

s | echofworld.In

C)3
D) 4

26) 92 daes MuQ RULIQ daele Y6 6208 acelen ?

0. 6 GRIAIRg a8 FULER FJ9IE RAQIQ @25 |

9. 62 dRIFIRG AFAIRG IR ALRIEQ 6QY 6AAIREA 58 2ITIQ 923 |

9. 6Q AAAIRG GEAY!, 69FRIR, QLS AP AWMAIRSR ¢ FUB Ie° 6QANRT ARIQ 6QUYER AT UCS e QTR 6QIR Aqe3 |

¥. 6Q SRINING 6ANRETQ GRAIFe AN1Q 4Rl 6RgRIQ Q3 |

A) ¢
B) ¢
c)m
D) ¥

27) Which of the following are examples of positive non verbal reinforcement?

A) Nodding, Smiling, Frowning
B) Nodding, Frowning, Friendly look
C) Nodding, Smiling, Friendly look
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D) Nodding, Frowning, Sad

27) 79Rge AQ 6246 6208 ARANR E6NYR QRIRAEQ QI8 ?

A) qe geieel, R-AQ 2d9!, 9i9

B) qe qaiacl, 918, e9gqd Q86 6QYQI

C) qe qzlieql, AR-AR 239!, eaqqd Q361 62¢A!
D) qe qeilacl, gisuieel, G8YS 629

28) Miscue Analysis (while assessing reading aloud) involves analysing

A) children's errors to understand the logic of their predictions

B) children's minds to find out the process of learning to read

C) children's loud reading to find out the behavioural changes during reading
D) children's correct pronunciation to examine cognitive changes

28) G5y 6gad (e YA aF9R RIS 2891 ANA6R) 6Q a 8cgaa AR 62NN |

A) 6Q719a°q RIGAIRA odg BRI ad TAININR°Q g8 Te C h OfWO rI d I n
B) a@el dgeia gRaIg Idel Al AL AL =

C) adel anaea zicasae AARER 9ide ais daiieee e Fosa adel

D) wieee Gﬁeéﬁ‘q@m A8 2AQIQ JAAIREa A0R 2RI

29) The school administration today makes arrangements in the existing infrastructure so as to
accommodate children with special needs. This is a method of

A) Modernization

B) Inclusion

C) Development

D) Progress

29) M gAIAe Q'GP IAIR QRPACR AR QBT QIR TFEQ TEAT ARSI AU TNIAINT
QHAIRARS | 9T ARTQ Q@4 QRIAN ?
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A) 2RFAMRAE
B) 2293204
C) dia

D) @a@

30) The classroom management technique in which teacher establishes transition routine that
students learn and execute quickly and repeatedly is known as

A) do now written activity
B) seat signal

C) tight transition

D) non verbal intervention

30) sgange adaeal 988 6a6g6a 2R AGRERAIR RN AR KOS QIR QQyieliaies 419 99 QIOAIQ dE3 e QIR RIS
Q12! AR QAN |

A) aéaie eaq ERYG Qidiesia

s, Techofworld.In

C) @0% adedq
D) el 67ige 2g68a
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Section 5 - Paperll-Odia Language

No. of Questic

31) 652 QUVIQ YFYLR 6Q6C VIVER I9B?

A) ¥
B) &
C)a
D) 9

32) ‘GeIQ8’ 996Q 629 QUL ML 621QB ?

o+ Techofworld.In
C) &«
D) &a

33) Gaia €F 8 Q'€ QRIANI?

A) @d
B) aal
C) uig
D) geya

34) ‘e@¢’ 00 FAQISICIRIR g I8 |

A) a@ad
B) aae
C) asd
D) &el

35) QQ36Q UIPA AR Q'€
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A) goie
B) Q0@
C) 946
D) @@

36) G698 FRIQ 6906 AQY 4 Q6L 2

A @
B) @
C)a
D) &

37) ‘@oIe’ 20Qd QS I96Q 609 AIQ Qe 4 7?

A) @R

s« 1 echofworld.In

C) @9
D) o8

38) ‘calgl 524’ 9Fe 2l 798 /9 |

A) BIEAIGI GO
B) 8¢ aieae o
C) zerama

D) 971 ad6a @ AcIae!

39) ‘agsn yYP 6@’ 9Fa 2d FQa8 @9 |

A) 989 69<!

B) ©19¢ @2¢ *el
C) o&e!

D) 6c1@ @a<l
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40) @@, A9, 692, AAGI- @ I F68Y ?

A) 43I0
B) agaie
C) QIeQIe
D) geQion

41) ‘&’ aea YAQAIGILCIRIR 60 @ia |

A) aiet
B) @&
C) fee
D) &9

42) 'gRI8’ 0% @0 Q8 621087

A) ag fI86a Q12T 69

B) a@ e @08’ 6a 6Q TeChOfWOrldIn

C) ai@ QIgiq ag 98 69
D) qidg ag 98 Qi2ie 6Q

43) ‘919’ 2d6a ‘79’ a9 AAIKIR 906 9edq Qg |

A) eIena
B) dgna
C) °g9
D) gs99

44) 3919 6AIRAIER AQOIEA 2IQQ VIAIE — 6Q¢IEE 9T & 99?

A) galge

B) 21qya aQ
C) aeqiq a@
D) Geaa4 Q@
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45) ‘901ee’ 49 AAILEARIR IR QIS |

5w Techofworld.In

C) ga1ed
D) a@ieé
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) Which of the following is the possible number of solutions for the equation 3x + 4y = 8?

A) None
B) One
C) Two
D) Many

46) 3x + 4y = 8 an1Red AR FYAYE ARIQ 6RWT AAIYY THYIR AR AT ?
A) @8 q6¢

B) selIc

C) 288

D) z67@

47) What is the area of the isoceles triangle whose base is 8 cm and the other 2 sides are 6 cm
each?

A) 815 sq.cm

o wseo 1 @chofworld.In

C) 20V5 sq.cm
D) 165 sq.cm

47) 9@ A0QQI S9P9 90T 6260 629 AR 9F 8 6ad e 2R 2 aig geeie 62aa 6 6ad ?

A) 85 adi 6af

B) 12V5 od ¢af
C) 205 e¢ sad
D) 16V5 @4 6ad

48) Which is the least number that is divisible by all the integers from 1 till 12 (including both)?
A) 24820

B) 26620

C) 27720
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D) 27920

48) 64 NAY AHYIS 60l 6T, A4 1 @ 12 adie ang gdera QoI FQIFe 24 (AN0Q 29¢e @8) ?

A) 24820
B) 26620
C) 27720
D) 27920

49) A man buys a toy car for ¥ 300 and sells it for  350. What is his percentage of gain?

A) 10.50%
B) 12.60%
C) 14.61%
D) 16.67%

49) f6a @48 9@ cdaa @I0g T 300 ca 343 e v2ig T 350 60 G @08 | 0IF QIO 90! 6960 ?

vws Techofworld.In
C) 14.61%
D) 16.67%

50) If the sum of one-fourth of a number and the number itself is equal to 20, then what is the number?

A) 16
B) 14
C) 12
D) 10

50) 9@ e Tae 1@-6Qdrd Y& 622 TR 6aI0TR 20 24, 6069 TS Q60 629 ?

A) 16
B) 14
C) 12
D) 10
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51) An equilateral traingle AABC is inscribed in a circle and another circle is inscribed in the triangle
AABC. If the area of the inner circle is 20 T, then what is the area of the outer circle?

A) 401

B) 601

C) 801

D) 1201

51) 9@ anqig Gee AABC 1o Qo6 28030 62108 1e° 2R 9@ 96 898 AABC o 26030 62108 | 93 26 Qo sagae 20 T,
6069 QIRY QOR 6VQTR 6REE 629 ?

A) 40T
B) 60T
C) 80T
D) 1201

52) The greatest number which when divides 166 and 237 leaving remainders 6 and 5 respectively,
is

A) 6

»s | echofworld.In

C) 12
D) 18

52) 622 Q2@ QIS 6QQ6 269, AIRIY 166 ver 237 Qo Q0 REM QUSsa Q2Rsn 6 e 5 adarg ?

A) 6
B) 8
C) 12
D) 18

53) The cost price of an article is 75% of the selling price. What is the percentage of profit gained by
selling that article?

A) 25%

B) 33.33%

C) 42.50%

D) 75%
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53) e 9Qa 22 g 6208 382 JAe 75% 1 622 Y 20 FEM 6260 909! AN FRQ ?

A) 25%
B) 33.33%
C) 42.50%
D) 75%

54) Two numbers are in the ratio 8:9 and their LCM is 1,512. Which are the two numbers?

A) 160 and 180
B) 168 and 189
C) 176 and 198
D) 200 and 225

54) gaé e 29ale 6208 8: 9 1&* canieea alg 6208 1,5121 63T eyl Qab 6960 ?

A) 160 99° 180

B) 168 99° 189 TeChOfWOI"|d . I n

C) 176 99° 198
D) 200 99° 225

55) The representation of the set {x:x is an integer and x - 2 = 0} in roster form is

A) 2

B) {2}
C)[2]
D) 12|

55) 6a¢ {X:X 6208 1@ g4 @el 9 X - 2 = 0} @ 2AQARI 6Q14Q TFER 6208

A) 2

B) {2}
C)[2]
D) 12|

56) Sameer planted 7,225 plants in a such a way that, there are as many rows as there are plants
in a row. How many plants are planted in a row?
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A) 55
B) 75
C)85
D) 95

56) anta 7,2258 cagq 08 QI96Q 60108 R6R 69, ARG 6957 S Q2B UG 6T a2 028 | 6069 AUIFER 6R60IT a8 QA
QIR ?

A) 55
B) 75
C)85
D) 95

57) 2 equilateral triangles each of side 12 cm are drawn inside a circle to form a star. If the bases of
the triangles are parallel to each other, then what is the area of the circle outside the star?

A) 36(1-V3) sq. cm
o= Techofworld.In
C) 60(1r-V3) sq. cm
D) 24(m-V3) sq. cm

57) 28 12 6afl i@ 389 AQIQ GQFY I QO FRIER YAA rAC FAIAIRE ARl ORI 6F 62¢IAN | 98 00a 399 §f 0eea Q9
QANIBAIR 6NN 606Q SINR QIRIER TR QO ETQTR EREE 629 ?

A) 36(1r-\3) e 6af
B) 48(1r-V3) ed 6af
C) 60(17-V3) o4 6af
D) 24(1r-V3) a4 6af

58) The number which bears the same ratio to (7/43) that (9/22) does to (5/11) is

A) 61/430
B) 63/430
C) 63/431
D) 61/431
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58) (5/11) ae (9/22) « a6 agaie 628, (7/43) ae QIRie 6267 2QAIe @2 ?

A) 61/430
B) 63/430
C) 63/431
D) 61/431

59) If Set A has m elements, then what is the cardinality of the power set P(A)?

A) 2m
B) 2m -1
C) 2m.
D) m?

59) @ 6ac A 66 M QQIQIR 028, 606 AIgR 6a¢ P(A) @ QIGRIAE 6208 ?

a=. 1echofworld.In

C) 2m.
D) m?

60) What is the square root of the sum of the two numbers 5,929 and 69,6967

A) 375
B) 365
C) 325
D) 275

60) 9ad e 5,929 e 69,696 & An§a AGR 6066 ?

A) 375
B) 365
C) 325
D) 275
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61) What happens to the relative humidity when the air temperature increases?

A) Increases
B) Decreases
C) Remains Constant
D) Fluctuates

61) QIga S1aAIQl QF 626@ 2CARR ALS! @' 621Q2N ?

A) o8 g9
B) gia @9

C) 4@ adad

D) g@a 62ialg

62) Among the following options, the layer of the atmosphere closest to the Earth is

A) Stratosphere

s possnere | @CHOTWOTrId.IN

C) Exosphere
D) lonosphere

62) FANYC GaagPR Auisa QAR AREEN QIGAERA 3Q 6208

A) gi601321Q
B) geadaiq
C) 16gi32Q
D) 2iger@daq

63) What among the following was formulated by the 73rd and 74th Amendment Acts?

A) Nagar Palika
B) Mandal Parishad
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C) Municipalities
D) Municipal Corporation

63) oM 00 9 9% 9 TEARIL ALY QIR FIRYS AUQ 6RAET F0R FRUAIRAR! ?
A) /99 ARl

B) age adee

C) foQaIReIge

D) aoq &l

64) How many Upanishads are listed in the Muktika Upanishad as per Vedic literature?

A) 107
B) 108
C) 109
D) 106

64) 630Q ALGY AQYIN (IR QATAAER 6260IT QUTIQ CIARIRS 26T ?

A) 09

s 1 @chofworld.In

C) Ro(
D) €02

65) Unplanned migration adversely impacts environment. According to the census, which of the
following Urban Agglomeration has the highest share of migrants?

A) Mumbai UA

B) Bengaluru UA

C) Delhi UA

D) Kolkata UA

65) 2660197198 YRISRE 0H6QE QU6Q 9FYR AR ARIRAN | RRAER! 2QAIER, FINYS AUQ 699 LA AYRER AR 2ra
AR 2B ?

A) 9718 g4
B) 694NQ 9
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C) @1 29
D) e@la@lol g9

66) Which segment of the environment on the Earth mainly includes soil, mountains, rocks, and
minerals?

A) Hydrosphere
B) Lithosphere

C) Atmosphere
D) Biosphere

66) a1 086eaa 6a¢ SRl QaNes AIF, ase, aga Ie* SIEIRY aQld 2eds ?

QIQG@IQQG

ee 1 €ChOfwoOrld.In

C) ACEAIRAR

D) Qieai@oR

67) Inner cabinet, consisting of the Prime Minister and two to four influential and trustworthy
colleagues is also known as the

A) Peer Cabinet

B) Closed Cabinet

C) Kitchen Cabinet

D) Drawing room Cabinet

67) QuIRAGT 9e* QaQ A8 96 gRIRAIRT I §48 LI 6Pa G106 29018 UIdsre I8 RIFIEA A aigal

A) Qen HIFeRe,
B) @@ @iGeae!

C) @69R uIdene,
D) g6 QA QIIF6Re!

68) Article 43 B in Part IV of the Constitution of India deals with ?

A) Village Panchayat
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B) Rural Business
C) Forest Development
D) Co-operative services

68) aueea ahuiea IV euee el sn B Q26 Ane Q6T ?

A) 919 o100

B) gicné QuaQig
C) saa GqI1a
D) 2A9ia 629

69) Which among the following options is an imaginary line that runs East to West around the Earth?
A) Meridian
B) Prime Meridian

6) Latiude Techofworld.In

D) Longitude

69) GqRge FeRQPe NUQ 6RWT IQ QER 6adl QIR 9a9Ie QIR adag aRaN ?

A) QriRe easl

B) qan ArIde sall
C) agrs

D) gi@su

70) The author of the autobiography 'The Indian Struggle' was

A) Sardar Vallabhai Patel
B) Lala Lajpat Rai

C) Subhash Chandra Bose
D) Chittaranjan Das

70) ‘@ e@ue F0Q’ USRI 6QSR aeml

A) Q€I RNIR A6ER
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B) iql RIeae Qg
C) 9918 92 6aI8

D) Saoree QiQ

71) The Aitareya Upanishad is associated with which of the following four vedas of Vedic Age?

A) Rigveda

B) Yajurveda
C) Samaveda
D) Atharvaveda

71) 6309 goa AORYS I6AIT 699 AR 6296 A2 I06a0 QARIR 863 ?

A) QEI69Q

soee 1 €CHOfWOrId.IN
C) anee@

D) zaq6q@

72) The Kharif cropping season is around which of the following months?

A) July-October

B) October-March

C) September-Mid December
D) Late December-Mid March

72) feqis ARGER MQ 604 NIAYPRA ZIHAIFER $OT TR AQ 2i6Q ?

A) RQ-26]IeQ

B) 2CRPA-AIE

C) 626QAQ- $6aRa ARINIG
D) @69n@ 668-AI9Q AIAIE

30/ 40

73) The spirit of the makers of the Constitution of India is reflected in

A) The Preamble
B) The Fundamental Rights
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C) The Fundamental Duties
D) The Directive Principles of State Policy

73) 100 QAR FAGIAINS 2 9ETRe 62108

A) gaierica
B) sfide zyei6Q
C) stide agaue

D) aisy @16 Sedaqiaica

74) The sun is directly overhead at the Equator for

A) four times in a year T h fW Id I

B) three times in a year eC O O r B n
C) two times in a year

D) once in a year

74) 9dy 9arl 6a¢il @asa Juiaed I6Q &Q adard

A) ed6a qaee
B) @d6a 6
C) @dea 9@
D) adea a6

75) In which year of 26th January, INC observed ' Independence Day ' for the first time?

A) 1925
B) 1947
C) 1950
D) 1930

75) cod oda @Igzian 99 QIAGIER, 2Iaad gan aa ais ‘Auieel @R’ alee @adial ?

A) €098
B) €¢¥9
C) ¢¢8o
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76) Which among the following product is formed and also name the type of reaction when ethyl
chloride is treated with aqueous KOH?

A) Ethanol and addition

B) Ethene and elimination

C) Ethanol and substitution

D) Glycol and double substitution

76) ee12 KOH a2¢ Qaiem 690106 249210 @a1del Anaca F69I8 aQIQ MRIQ 6296 906 24 e 6239 62adel gotaia gRIea
Q6 ?

A) Qeiea e saia
B) asae wer Q0Q

C) uien e goaIae
D) qIeen we§ goaIae

77) What type of crystalline solid does diamond belong?

A) Molecular solid

s 1 €chofworld.In
C) Covalent solid

D) Metallic solid

77) 2161 629 gRI00 360 A0 266 ?

A) ugde QR
B) 6nIaQ @@
C) agsaie1 Ae
D) uee @@

78) A 5 kg body has an acceleration of 4 m/s?. What is the net force acting on it?
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A) 40 N
B) 10 N
C)30N
D) 20 N

78) 9@ 5 kg 990 QQél 6208 4 m/s2. 2l QU6Q QI @YY AYRIA Q@ 6R6C ?

A) 40N
B) 10N
C)30N
D) 20 N

79) The most common solidifying agent added to culture media is:

nean 1 €chofworld.In

C) agar
D) silica gel

79) AQES ARIAER A8l AIRYRI AZ0IQ ARIKE AVIRS WESS 6298

A) 8.

B) 6enieq
C) ze@

D) 3ReI 6an

80) Identify the CORRECT statements from the following:

A) Stems which remain above the ground to perform different functions are called subaerial stems

B) Stems present partly above the ground and partly below the ground are called underground
stems

C) Onion and Garlic are example of bulb type of underground stems
D) Buds are modified into hard pointed small structures called as Tendrils
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. QPCNYe Feadgee kg A0REY 090 @A

A) 369 @i @dal e §ff 206 9229l CIRYPR ACLAAUR 637 QRIAI

B) arde 9f aase v 2rae 9ff o6 @ade a0l 0Iegde ACAgIRE 684 galan
C) auie ve* a4 6208 QR geiea AYAGIRE 6]¢] elead

D) Q0@ (&2 6816 A°A9RIEA QUIBAS 6RIQRYEY 6587 QRIN

81) Which among the following is CORRECT regarding roasting process used in metallurgy?

A) This is used mainly for sulfide ores and heated in presence of air
B) This is used mainly for oxide ores and heated in presence of air
C) This is used mainly for sulfide ores and heated in absence of air
D) This is used mainly for oxide ores and heated in absence of air

g1) UIQSIRIGER QLS 6QI8° 9RaI FAAEQ FNYE AIQ 62aS A0R, AT ?

A) gl gene ARTIRG I TS aisk 4ege 29 I AIgA 2agden aea 24 Te C h OfWO rI d I n

B) wai qeie AFING AIQ Q8 agl YO 29 Y6 QIR RAFHER 99 29
C) el aie dnTIng JIQ Qg ael QYO 29 I QIGQ AQAFo6 90 29
D) wa qatie 2AFING AP A aiel Q4eQe 29 9 QIga 29adoen aan 24

82) Which among the following condition is important when gas is converted into liquid state?

A) It has to be equal to critical volume
B) It has to be below or equal to critical temperature

C) It has to be below critical volume and above critical temperature
D) It has to be above critical temperature

82) quia 60e 29gI6a 0840 ELQIEQER, FIRYE gl MRIQ 699T Qa4 ?

A) 2 QIBRINCR ad6 AR 626! AR
B) o @I8@ QI0QAQ @ Gl anie 629! ZIRaie

C) w2 QIBRIAGR0IQ @0 ve* YITR FITFEI0IQ 2R 629! 2LER
D) ol QIBR SIAGFI01Q 2R 6291 2SER
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83) The Sl unit of force is

A) Coulomb
B) Kilogram
C) Ampere
D) Newton

83) QPQ Y99 62Q8

A) gag

B) Qeugiql
C) wfaeQ
D) 8aeQ

84) Which of the following normally live in the intestines of healthy people and animals?

vee Techofworld.In

C) Fungi
D) Yeast

84) QqRge auQ 696S ARINESE g FIGAY e AGAIRG AIRRTER Q1A @6Q ?

A) 9. 6a1R
B) a6AIS
C) @e@
D) a8

85) Select the CORRECT statements from the following:

A) Prokaryotic cells are fundamentally similar in organization and shapes but variable in functions
B) Prolaryotic cells are fundamentally similar in shapes and functions but variable in organization
C) Prokaryotic cells are fundamentally similar in organization and functions but variable in shapes
D) Prokaryotic cells are fundamentally similar in organization but variable in shapes and functions
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85) QCINGE g A0R FRadg CIR K99 -

A) 6gIRIBEee 6R19gEe FAOR IE° Q6 6AIRR NER AAIR @ QIIER AGRARaIR
B) sgaitase saiagee 2igd e Qidisa 67lIe aIesa anie @5 Fa0Rsa IGQANAIR
C) 69I1R1065@ 621998 PA0R I AIJIER 67IFQ AR AR B3 AR alaalars =

D) sgieitase seiage a0nea 6Ie aIesa anie 39 21g8 e eidisa IRQARIR

86) Which of the following statements is TRUE with reference to cymose inflorescences?

A) The main axis is of unlimited growth
B) The flowers are arranged in a basipetal succession
C) The flowers are arranged in a acropetal succession
D) The opening of flowers is centripetal

86) AIRCAR YIAGR AYVEQ AgAge FRIQ 6od FQQEIE a6y ?

A) qen 28Q zaidie 268 29

B) grq@e e sedsasia ansa ariaiegd Te C h OfWO rl d 2 I n

C) gag@e 1 2icgicacia @Aea aRIAIRE
D) 9% 641Aial 6208 6rgeacia

87) What will be the percentage increase in volume of a gas whose pressure is decreased by 40%
keeping mass and temperature both constant?

A) 6.76%

B) 78.43%
C) 27.52%
D) 66.67%

87) see ve cl0aglg g od qa 40% 219 AIe6n aHIAR AGAIER 6R60 90RQI Q8 629 ?

A) 6.76%

B) 78.43%
C) 27.52%
D) 66.67%
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88) Which of the following things force CANNOT do on a body?

A) It can change the speed of a body

B) It can change the direction of motion of a body
C) It can change the mass of the body

D) It can change the shape of the body

88) AARYE IR 69Q AR Y AUER I IR ?

A) 92l RZA 699Q QLRI AIRR

B) v@I 4@ @g@ 600Q G0 QGRIR AR
C) 92l 9gQ 939 QIR AR

D) 9@l @gQ 2IRI0g GRIR AR

89) Daniel Koshland's proposed theory of enzyme ineraction, and it was called as

A) Lock and key theory T h fW I d I
B) Reduced fit theory e C O O r “ n
Induced fit theory

C
D) Enzyme coenzyme theory

— S

89) QITNA 6RIEINYIY IRRIRF FFAGIQ Gaeq gaide QAYER e weiq geIaeaal |

A) AQ 9e° @ d|ie
B) aqiae dq dais
C) argiaq de dais

D) 9aeIaf 6aNaaIa RIS

90) Which of the following cell organelle function is the transmission of characters from one
generation to another?
A) Lysosomes

B) Golgi apparautus
C) Nucleus

D) Endoplasmic Reticulum
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90) GqRge AQ 6aR ACIERNR 6RR AT 6208 gaq 6aIEN 98 2y 1o G8g A0IeRI ?

5 e 1 €CHOfWOrId.IN

C) P00
D) Wsaigieide sadeas
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TechohNoﬂdIn
1B B
2l 32 (B 62 | B
3 | D 33|C 63| B
4|D 34 |D 64 | B
S|A 35 | € 65| A
6|C 36 | C 66 | B
7B 37|D 67 | C
8B 38|B 68 | D
91D 39|C 69 | C
10 | D 40 | D 70 | C
11 A 41 | B 71 | A
12 (B 42 | A 72 | A
13|C 43 | D 73 | A
14 | B 44 | D 74 | C
I5|D 45| C 75 | D
16 | C 46 | D 76 | C
17 | A 47 | A | €
18 | A 48 | C 78 | D
19 A 49 | D D€
20 | A 50 A 80 |C
21 | C 9 | € 81 A
22 |.C 52| B 82 |B
23 |€ 53|B 83 |D
24 | C 54 | B 84 A
25| B 55| B 8 |D
26 | C 56 | C 8 | B
27 | € 57| B 87 |D
28 | A 58| B 88 |C
29 | B S9 A 89 |C
30 | C 60 | D 90 | C
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